## **Bronislovas Lubys**

## **Board** member

(name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated)

# "Klaipėdos jūrų krovinių kompanija"AB, identification code 4034626, Zauerveino str. 18, LT-92122, Klaipėda, Lithuania

(name and code of the issuer, its registered office address)

Name and class of the security, ISIN code	Number securities	Price of securities,	Total value of transaction, LTL	Form of transaction (acquisition, transfer)	Type of transaction	Date of conclusion of transaction	Place of transaction	Form of sttlement	Category of the person**
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT0000116154	2000	9	18000	acquisition	purchase	2008.11.25	AUTO	Cash	1.2
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT0000116154	2000	9	18000	acquisition	purchase	2008.11.25	AUTO	Cash	1.2
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	10000	9	90000	acquisition	purchase	2008.11.25	AUTO	Cash	1.2
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	2546	9	22914	acquisition	purchase	2008.11.25	AUTO	Cash	1.2
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	25	9	225	acquisition	purchase	2008.11.25	AUTO	Cash	1.2

Per pro director general

fuely

Juozas Benetis

AUTO - automatically matched trade concluded in the regulated market TS - manual trade concluded in the regulated market

XOFF - OTC trade

\*\*

1. A manager of the issuer (as defined in the item 5.1. of the Rules):

- 1.1. Manager of the Company;
- 1.2. Member of the Board;
- 1.3. Member of the Supervisory Board;
- 1.4. Other employee.
- 2. A person closely related to the manager of the issuer (as defined in the item
- 5.2. of the Rules):
- 2.1. Spouse, partner;
- 2.2. Child, foster child;
- 2.3. Other person;
- 2.4. Legal person.

## **Bronislovas Lubys**

#### **Board** member

(name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated)

## "Klaipėdos jūrų krovinių kompanija"AB, identification code 4034626, Zauerveino str. 18, LT-92122, Klaipėda, Lithuania

(name and code of the issuer, its registered office address)

Name and class of the security, ISIN code	Number securities	Price of securities, LTL	Total value of transaction, LTL	Form of transaction (acquisition, transfer)	Type of transaction	Date of conclusion of transaction	Place of transaction *	Form of sttlement	Category of the person**
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	300	9	2700	acquisition	purchase	2008.11.26	AUTO	Cash	1.2

Per pro director general

Juozas Benetis

AUTO - automatically matched trade concluded in the regulated market TS - manual trade concluded in the regulated market

XOFF - OTC trade

\*\*

- 1. A manager of the issuer (as defined in the item 5.1. of the Rules):
- 1.1. Manager of the Company;
- 1.2. Member of the Board;
- 1.3. Member of the Supervisory Board;
- 1.4. Other employee.
- 2. A person closely related to the manager of the issuer (as defined in the item
- 5.2. of the Rules):
- 2.1. Spouse, partner;
- 2.2. Child, foster child;
- 2.3. Other person;
- 2.4. Legal person.

## **Bronislovas Lubys**

## **Board** member

(name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated)

# "Klaipėdos jūrų krovinių kompanija"AB, identification code 4034626, Zauerveino str. 18, LT-92122, Klaipėda, Lithuania

(name and code of the issuer, its registered office address)

Name and class of the security, ISIN code	Number securities	Price of securities,	Total value of transaction, LTL	Form of transaction (acquisition, transfer)	Type of transaction	Date of conclusion of transaction	Place of transaction	Form of sttlement	Category of the person**
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	653	9,1	5942,3	acquisition	purchase	2008.11.28	AUTO	Cash	1.2
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	161	9,1	1465,1	acquisition	purchase	2008.11.28	AUTO	Cash	1.2

Per pro director general

9

AUTO - automatically matched trade concluded in the regulated market TS - manual trade concluded in the regulated market

XOFF - OTC trade

\*\*

- 1. A manager of the issuer (as defined in the item 5.1. of the Rules):
- 1.1. Manager of the Company;
- 1.2. Member of the Board;
- 1.3. Member of the Supervisory Board;
- 1.4. Other employee.
- 2. A person closely related to the manager of the issuer (as defined in the item
- 5.2. of the Rules):
- 2.1. Spouse, partner;
- 2.2. Child, foster child;
- 2.3. Other person;
- 2.4. Legal person.

Juozas Benetis

## **Bronislovas Lubys**

#### **Board** member

(name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated)

# "Klaipėdos jūrų krovinių kompanija"AB, identification code 4034626, Zauerveino str. 18, LT-92122, Klaipėda, Lithuania

(name and code of the issuer, its registered office address)

Name and class of the security, ISIN code	Number securities	Price of securities, LTL	Total value of transaction, LTL	Form of transaction (acquisition, transfer)	Type of transaction	Date of conclusion of transaction	Place of transaction	Form of sttlement	Category of the person**
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	127	10	1270	acquisition	purchase	2009.02.20	AUTO	Cash	1.2
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	800	10	8000	acquisition	purchase	2009.02.20	AUTO	Cash	1.2
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	827	10	8270	acquisition	purchase	2009.02.20	AUTO	Cash	1.2
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	73	10	730	acquisition	purchase	2009.02.20	AUTO	Cash	1.2
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	5	10	50	acquisition	purchase	2009.02.20	AUTO	Cash	1.2

Per pro director general

9

Juozas Benetis

AUTO - automatically matched trade concluded in the regulated market

TS - manual trade concluded in the regulated market

XOFF - OTC trade

\*\*

1. A manager of the issuer (as defined in the item 5.1. of the Rules):

- 1.1. Manager of the Company;
- 1.2. Member of the Board;
- 1.3. Member of the Supervisory Board;
- 1.4. Other employee.
- 2. A person closely related to the manager of the issuer (as defined in the item
- 5.2. of the Rules):
- 2.1. Spouse, partner;
- 2.2. Child, foster child;
- 2.3. Other person;
- 2.4. Legal person.

1

## **Bronislovas Lubys**

## **Board** member

(name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated)

# "Klaipėdos jūrų krovinių kompanija"AB, identification code 4034626, Zauerveino str. 18, LT-92122, Klaipėda, Lithuania

(name and code of the issuer, its registered office address)

Name and class of the security, ISIN code	Number securities	Price of securities, LTL	Total value of transaction, LTL	Form of transaction (acquisition, transfer)	Type of transaction	Date of conclusion of transaction	Place of transaction	Form of sttlement	Category of the person**
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	1200	10	12000	acquisition	purchase	2009.02.11	AUTO	Cash	1.2
AB "Klaipėdos jūrų krovinių kompanija" PVA, LT000011615	700	10	7000	acquisition	purchase	2009.02.11	AUTO	Cash	1.2

Per pro director general

July 1

Juozas Benetis

AUTO - automatically matched trade concluded in the regulated market TS - manual trade concluded in the regulated market XOFF - OTC trade

\*\*

- 1. A manager of the issuer (as defined in the item 5.1. of the Rules):
- 1.1. Manager of the Company;
- 1.2. Member of the Board;
- 1.3. Member of the Supervisory Board;
- 1.4. Other employee.
- 2. A person closely related to the manager of the issuer (as defined in the item
- 5.2. of the Rules):
- 2.1. Spouse, partner;
- 2.2. Child, foster child;
- 2.3. Other person;
- 2.4. Legal person.